WIEN-Bridge Oscillator

Practical THD @ 1KHz : Min

: 0.0016%
Max : 0.0021%

50%
! c2
L 17 18 “
R13
R14
10kQ 10k 50% 22"F
Key=A V1
! b Key=A 16 |yl 0
0 c3 g [ I
) = ? + 1 10
22nF
Output >=>
1 15 2|~ 1A TL P
= 111TL074CN =
R11 Lo
10kQ 00 R12 4 0
Key=B 0% AN 0—||| I
18kQ 12V
14
R9
§1MQ R10 R1
u2 4.7kQ 10kQ
2SK105 u1D 4 0
| 112 I
TLO74CN : e [
—1413
U1B ™
R3 11
5 TLOJACN YWY 3
1kQ D2 D1
. 7 R4 —K—a—D—
1kQ 1N4148 C?N4148
'ﬁfﬁ (] “'jr 10puF
D4 D3
10 - 1 '
1kQ 1N4148 - 1N4148
5 R2
R7 e
10kQ  50%
Key=C

All Resistors

Positive Vref

are Carbon Film 5%




